Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

SR

¢ p \sum and carry.

\N{Idx. Marks: 80

om each module.

Explain V —I characteristics of a diode with neat sketch. (04 Marks)
With circuit diagram, « X Ia-m the working of Center — ta ped 11 - wave rectifier. Draw its

input and output wave = - (06 Marks)
Define ‘a’ and ‘B’. Also’ ‘derive the relation between{th“én (06 Marks)

OR
Sketch the transistor input and\butput charaeterlstl of CE configuration and briefly explain
the three regions of operation. .= R4 (08 Marks)
Find the value of ‘a’ and ‘B, ‘B’ an‘{ Ipfor f\tran51stor that has Ig = 100 pA and Ic = 2mA.
3 (04 Marks)
¢ \lﬁer with Capacitor filter. (04 Marks)

With circuit diagram, explain Half — Wa

I\ﬁcd e-2

Explain the operation of voltage, dmder blas Wlth neat circuit diagram and necessary
equations using approximate analyss (08 Marks)
Write the ideal characteristics ¢ Operations Am lifier. (04 Marks)
Define the following terms w spect to Op — amp » Slew rate  ii)) CMRR.

‘ (04 Marks)

’ OR (

Draw the circuit diagram of Op — amp integrator and derlve t’qe expression for its output
voltage. 0 (04 Marks)
A base bias circui 1'a 12 volts supply uses a transistor with B=70, Design the circuit so
that Ic = 2mA aj =9V. (Assume Rg = 0) \ (06 Marks)
Draw the circ ram of three input inverting summing circuit gsing-Op — amp and find

the output voltage, if Vi =1V, V, =2V, V3=4V, R, = 1kQ, R, = R

Module-3
State.and prove DeMorgan’s law, for two variables.
Convert (342 56)10 = (")2 == (7)16

OR
Perform the subtraction (11010), — (10000), using both 1°’s complement and
complement. (04 Mark:
Realize the basic gates using only NAND gates. (04 Marks)
Simplify and realize the following expression using only NAND and only NOR gates.
Y =AB + AC + BD + CD. (08 Marks)
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Module-4

7 k diagram, explain Micro Controller based stepper motor cont
& ) (08 Marks)
p — Flop? Explain the operation of RS latch using NOR gates (08 Marks)
‘ OR )
8 a ‘am and truth table, explain clocked SR flip — flop.>) (08 Marks)
b. With neat block ram, explain the architecture of micro cor;\trb\‘ﬂé" 8051. (08 Marks)
% Module-5
9 a. What is Modulation?; Explain the need for modulation and list the different types of
s PAES) (06 Marks)
d-principle of operation of LVID'T. (06 Marks)
¢ 6od transducer. (04 Marks)
D OR oV
10 a. Derive the voltage equation for amplitude modulated wave. (06 Marks)

b. A 500 Watts IMHz carrier is amplitude
depth of modulation is 60%. Calculat:
transmitted.

¢. Give the comparison between AM and:

\.:dulated with a sinusoidal signal of 1kHz. The
width , power in the side bands and total power
>/ (04 Marks)
(06 Marks)
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